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In a right angled triangle APQR, if QR = 11 cm, PQ = 17 cm are the lengths of perpendicular sides , then
" corresponding height of side QR =
FI

Q R
(i) 22.00cm (ii) 12.00cm (iii) 17.00 cm (iv) 20.00cm (v) 14.00 cm

In a right angled triangle APQR, if QR = 12 cm, PQ = 14 cm are the lengths of perpendicular sides , then
" corresponding height of side PQ =
FI

Q R
(i) 17.00 cm (ii) 15.00 cm (iii) 9.00 cm (iv) 7.00cm (v) 12.00 cm

In a right angled triangle APQR, if QR = 17 cm, PQ = 13 cm are the lengths of perpendicular sides , then area of
" the triangle =
FI

Q R
(i) 108.50 sgq.cm (ii) 110.50 sq.cm (iii) 117.50 sq.cm (iv) 135.50 sgq.cm (v) 88.50 sg.cm



4.

In a right angled triangle APQR, if the base QR = 10 cm and the corresponding height is 20 cm, then side PQ =
P

Q R
(i) 25.00 cm (ii) 20.00 cm (iii) 23.00cm (iv) 17.00cm (v) 15.00 cm

In a right angled triangle APQR, if the base QR = 14 cm and the corresponding height is 15 cm, then

" corresponding height of side PQ =

P

—
Q R

(i) 19.00 cm (ii) 14.00 cm (iii) 11.00cm (iv) 17.00cm (v) 9.00 cm

In a right angled triangle APQR, if the base QR = 18 cm and the corresponding height is 13 cm, then area of the

" triangle =

P

-
Q R

(i) 134.00 sg.cm (ii) 117.00 sq.cm (iii) 105.00 sq.cm (iv) 141.00 sgq.cm (v) 102.00 sg.cm

In a right angled triangle APQR, if the area is 110.5 sg.cm and corresponding height of side QR = 17 cm, then side

" OR =

P

8
Q R
(i) 16.00 cm (ii) 10.00 cm (iii) 18.00cm (iv) 13.00cm (v) 8.00 cm




8 In a right angled triangle APQR, if the area is 127.5 sg.cm and corresponding height of side QR = 17 cm, then side
©pQ =

P

[T

Q R

(i) 17.00cm (ii) 12.00 cm (iii) 14.00cm (iv) 20.00cm (v) 22.00 cm

9. In a right angled triangle APQR, if the area is 97.5 sq.cm and base QR = 13 cm, then side PQ =

P

Q R

(i) 12.00 cm (ii) 10.00 cm (iii) 15.00 cm (iv) 20.00cm (v) 18.00 cm

10 In a right angled triangle APQR, if the area is 171 sq.cm and base QR = 18 cm, then corresponding height of side
" OR =

P

-
Q R

(i) 14.00 cm (ii) 22.00cm (iii) 16.00 cm (iv) 24.00cm (v) 19.00 cm

11. In an isosceles right angled triangle APQR, if QR = 17 cm is one of the equal sides, then side PQ =

P

(i) 20.00 cm (ii) 17.00 cm (iii) 14.00cm (iv) 12.00cm (v) 22.00 cm



In an isosceles right angled triangle APQR, if QR = 11 cm is one of the equal sides, then corresponding height of
" side PQ =

P

Q R

(i) 16.00cm (ii) 6.00 cm (iii) 8.00cm (iv) 14.00cm (v) 11.00 cm

13. In an isosceles right angled triangle APQR, if QR = 15 cm is one of the equal sides, then area of the triangle =

(i) 112.50sqg.cm (ii) 129.50 sg.cm (iii) 117.50 sgq.cm (iv) 96.50 sq.cm (v) 84.50 sg.cm

14. In an isosceles right angled triangle APQR, if corresponding height to the base QR is 15 cm, then side QR =

Q R

(i) 18.00cm (ii) 15.00 cm (iii) 10.00 cm (iv) 20.00cm (v) 12.00 cm

15. In an isosceles right angled triangle APQR, if corresponding height to the base QR is 13 cm, then side PQ =

(i) 16.00 cm (ii) 8.00cm (iii) 18.00cm (iv) 13.00cm (v) 10.00 cm



16 In an isosceles right angled triangle APQR, if corresponding height to the base QR is 18 cm, then corresponding
" height of side QR =

P

5
Q R

(i) 18.00cm (ii) 23.00 cm (iii) 13.00cm (iv) 21.00cm (v) 15.00 cm

17 In an isosceles right angled triangle APQR, if corresponding height to the base QR is 13 cm, then corresponding
" height of side PQ =

(i) 8.00cm (ii) 10.00 cm (iii)) 18.00 cm (iv) 16.00cm (v) 13.00 cm

18 In an isosceles right angled triangle APQR, if corresponding height to the base QR is 18 cm, then area of the
" triangle =

P

Q R

(i) 139.00 sg.cm (ii) 146.00 sq.cm (iii) 162.00 sq.cm (iv) 190.00 sg.cm (v) 179.00 sq.cm

19. In an isosceles right angled triangle APQR, if area = 72 sg.cm, then side QR =
P
1
Il
Q R

(i) 9.00cm (ii) 17.00 cm (iii) 12.00 cm (iv) 15.00cm (v) 7.00 cm



20. In an isosceles right angled triangle APQR, if area = 128 sq.cm, then side PQ =
P

(i) 19.00 cm (ii) 16.00 cm (iii) 21.00 cm (iv) 13.00cm (v) 11.00 cm

21. In an isosceles right angled triangle APQR, if area = 200 sq.cm, then corresponding height of side QR =
P
1 Il
I
Q R

(i) 23.00cm (ii) 17.00 cm (iii) 20.00 cm (iv) 25.00cm (v) 15.00 cm
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